£ 1o

o r2

NI2632=~X|2634=

2025. 7. 22.(3t) 10:00

Hi3702] A2l MITAH &AM




= Xt

0 BHZ A998 74

oL

i

I Al B =7

Z] EL TP A Z B QF  ccceeeccccccccccceccnccccecccccacceccecccccceeee



PR KA
KK =
H=
Z0DF
<07

oF
RO
ol

—

FPHS - A2632%

O AZYA : 2025. 7. 9.

O Al

o
il

O 9

O 3JFIA : 2025. 7. 10.

OF

ol

ol

 Zgele ZA7) Z71ek we

3] o] SAA S

2

Rs

O

3. FRUE

T
To

o =xd| A

ol
oH

=X
110

lod
SN—

)

F A6ZA4

3 A WA

2

O #

zx oA AA (S A5R)

15 Al 178 A2 All6=x)

L:
=

1

THIE D FAAE A A7)

R

g 7

| oJWIE Zofztol o

Q =A

3

| 7HE Aol ek A

0 %



10
B
il
1)

|

| I

A7}

=
’:I.T

T

-

]_

S

s

of Wt A LS EE =8 E AL, =

?1d s AA]

=
_r—

=A91ds] 2 DAl 5 -

o

e

3}
=

s

=

O [ALAAH ] A 3R AR GEA & AHF B9

O £ AFEMNA

f—

3

T

AL s T

.y —



) 20254 M2kt A2 B QAN

1. HIgtE$

O 9etH S : A)2633%

O A=E=YAF : 2025. 7. 9.

O A = A : AATT (MR H)
O 3FEAx} : 2025. 7. 10.

2. HI2H0I=
O MFfAA 2 B2 Ay | A10x224138 ] oA TS

ASAEsAF & AF7E e wWos I SAAE T
%%Zﬂ’&%ﬂlﬁl-ﬁj—% T3l X He] 3] ,/]73 Hlolol &=
HE Ao =,
O 20253 FAIZE FFALAYAg S st &o3] oA2s
A
3. FLUE
O &aAL ASAHE AE A5 1dEH=)
S8 NEE ATHA i R
3 100 At 1,000 | 5,200,000
F8? SN2 | BES e
HE
= MEm =4 t6og-27 o 1mx | 000 | ©200.000
O FFAL #A S
= o S X &N
A 5 1,000 | 5,200,000
s ASA= 1S 1,000 | 5,200,000




10
B
il
1)

el Al0=x2]2 B 22 | AR AT=
e} -

RJ

L4
D

ol 2 A

e 1 A10=12413

—_
1o

. A

32X



ke

oJ

K1
K0

-
ol

K

80
Ok

Ljo

<
X

)
<0

K0

B

26345

O oS

O A=YAF : 2025. 7. 9.

O 3FELA : 2025. 7. 10.

OF

e

ol

o 22 (22 419165,

AR

2o} FAbRel 7
A3 2024, 11. 23)] Aol w

Eak:

243

O

0{0

0
KF

94 ok BAAL AT

g AIQE A=)

3T
=3

243

QO [AYRAH] A5z L

)

FH] A5E 91U

)

A HARE AdzA1

e

.

PN E=e]
=

25z &l

K|l zig

1 AN —
S TSTEC

=

[}

K|0
K{0

- (HE) &

S

HMozel dol wet Fe

)

TAE AR Al4xA]3

F 20| w2t

% 2] 714

T

=
|l =0F SAHA}

+
+
‘mo
o



10
B
il
1)

O AYRAH ] ABx(FTE )

O THESA Fof EAA 2

)

<

2 & #1916

AAT 74| (&

RJ

LU
O\

o)

—

‘Zﬁl

N
e

E EAHA)

2o

=517
NPz d zdolA st e AFTHrraE HA

Al
=

—_L
T

A

32X



